WINPOWS & POCRS SCHEPLLE

EXTERIOR POORS

7 101 |ENTRY

1 101L2| SIPELIGHT TEMPERED (LASS !
01018\ sieLicHT TEMPRRED GLAss 1 2

INTERICOR POORS

U102 | BARN STYLE PANTEY DOOR

WINFOW SCHETLLE

W 101 | KITCHEN SINK-PICTURE WINDOW ﬂ
W 102 | PICTLEE WINDOW TEMPERED (LASS
Wi | FOVER PICTURE WINDOW

56 26

7050
5018

FLOOR AREA CALCLLATION A\
LAPEL DIMENSIONS AREA
A 24 7" X285%," 941 5
B 6'8Y" X258 5%, 256
C 242%)"X227%" 548 5F

v 8 I10%" XIO " 97 5F
E 1826272 57T
oo a%,mas 104" 4% 5
G 1O "% 467 5 509 5F
Hoomlwze 2% 28 oF

l I'5)5" X16' Q% 2 5
CONDITIONED AREA

FIrsT FLOOR CA-C) 1745 5

SECOND ELOOR CD-) 1955 o

TOTAL 2680 F
FLOGR AREA RATIO

LOTE SIZE 872 % | .,

FAR 044997 | 12\

[PNING

'1-;—:——*—‘:::'.'_; -M'MM“-‘*

i o _l
" !
f
L ——— . S—
[CoKGEN | ====1
= —

(B WALL/ ZX4 WOOP STUp

CE) WALLS TO BE REMOVED

CND NEW WALLS

|1 Existing Walls To Be Removed

[*1 2x4 Exterior Wall
[*12x4 Interior Wall

80.3 FT| | |
50.8 FT[1|
27.2FT[]



hp
Rectangle


DRAWING MAME: O:\Projects)2021 JOBS\221197- MARCUS (CADJ\STRUCTURAL\STRUCT (0B8) 05.27.23\221197-51.dwg
O5-31-22 PFLOTTED BY: smarales

PLOT DATE:

= o c ~ L + Tt any 1 + e + L v} i 8 1 B 4 [

7 Wi 3/4" CDX Plywood Sheathingw/ 10d @ Boundry @ 4-0" O.C 361 SQFT_ ||

112210 D.F No.01 Ledger w/ (3)-1/4" Diax3-1/2" Screws 23.3FT] | LEGEND AND NOTES

[r12210 D.F No.01 Ledger w/ (3)-1/4" Diax3-1/2" Screws 6.5 FTIH DT EHSTHNG FLOGR.IOIST 46 AT AT O

I:I 2z10 D.F No.01 Ledger w/ (3)-1! " Diax3-1/2" Screws 5.2 FTi S—Pb>  FLOOR JOBT : 28 DF. No. 2 OR BETTER AT 167 0.C., TYP. (LON)
+ *(4x6) Wooden Header x 2'-6" L 3.0EA HOE:

2 *(4"x8") Wooden Post 3.0EAQ PEONE AND 24 BLOCHING UNDER PERPENDCULAR NOMAEAHG

PARTITIDN WALL ABOVE.

EXISTING 15° CONTINUOUS FOOTING

+ *(6"x6") Wooden Post 2.0EAD
. *(3'-0"x3'-0"x1'-0" Deep) Concrete Pad Footing Reinforce w/ (5)#4 Bars E.W 1.0EAN —
I*1 (15"x12" Deep) Continuous Concrete Footing Reinforce w/ (1)#4 Bar @ Top, (2)#4 Bars @ Bottom Continuous w/ #4 Bars Vertical @ 24" O.C 54.8 FT|_| S e conmmos roomis W s
[=18" Thick Concrete Stem Wall - (18" H) 54.8 FT[ | - B h
|71 2x8 Rim Joist Continuous 548 FT| | 7 o R kil

75" Concrete Slab On Grade Reinforce w/ #4 Bars @ 16" O.C E.W 258 sQFTl '

: *#4 Dowel - 1'-0" LF 12.0 EA ¢$| DENOTES CRAWL SPACE ACCESS
HOR.

F-: 2x8 Floor Joist 231.8 FT. (U, 18247
' i —_— RT0 W M DR SO :
B 2XS F|00r J0|St 40.3 FT. ngfm no;. Ss.ulmDROPETs’.'UE'RmWEl’UE}% WA 505 (GALY.) SCREW

AT 16" .0, TYP. [LON.)

DENDTES SMPSON HDU HODLDOWNS,

["1 TS-1 14.4 FT[ . /m
R .;m

T
if 1 1= i = ! : l l : SAD. OEKOTES CHANGE IN FINISH ELEVATIONS
i ] A | | | | | % :
| H u (€] PHOS SEE ARCHL PLANS
| | | | | r‘\‘ﬂ r‘\‘ﬂ r‘\‘ﬂ r‘\‘ﬂ r‘\‘ﬂ PEA LewolES POST FRO ABDVE
E) PHOS | | | I g I ® | | ® | | # | | &1
L + 4 S + < S + =] [N + o L + <4
o
e
rt+- r+ i al r i a = i a =
| @ | | ® | | & | | & | Bl
L el
1 - e Kz e | | | = I HIBIZONTAL [APHRAGNS [NEW AREAS)
| l l g<_ | FLOORS: 3/4° COX PLYWOOD WITH 10d COMMON WALS @ 47 0.C. BOUKDARY, 67 O.C.
{£) PHOS | | £ E : r E 7 5 E 3 r 1 ! 7 $ 2 EOGES, AND 10" 0.C. FELD. (UNELOCKED UNLESS OTHERWISE NOTED ON PLANS)
g ! : | | | k | + = ; =+ ¥ I - & : 7 k | 3 IF 118" THICK PLYWOOD 15 USED FOR FLODA DIAPHRAGH, USE SNPSON
rT° r i) FT FT = Ttudln’ LONG SDS SCREWS AT SILL PLATE NALMG FOR 3
| * [ | ¢ | | 3 | (- w— | | | | SHEARWALLS. A A
L J | 4 L -4 L -
-l | A .
£)lPra —I ! —: | :— | I N i
& | | | L e ke raa r+- r+4
. Do l I D Blodat ™) (a1 I ANCHOR BOLT SCHEDULE:
{3 | o (= 4 L 4 L 4 L 4
| | rta rta | T T | T | rT | ’EJ|_ T
Lot !_ I& J ’L ® : L —Il_—J_—J— - L T I L _I__.L_I - ! 1 Jl s —§f = HEW EDOTING - USE Ju P.T0F SLL WITH %902 AB's (GALY.) AT 487 0.C.
’ . - - T ELPra | | | | | (MIN, 2 BOLTS PER 5LL)
s I o T ! I I | | | | | (USE 35 STEEL PLATE WASHERS (GALV.) TYPICAL, (LLON.)
M) 36736"x12" CONCRETE FTG: ‘ ‘ | | | | |
W 5N BARS EACH WAY
i | [ I 1
| |
3% S F;
| |
| |
I =1t

|
T ‘
SEE.DETAL /757 EXISTING FOOTMG ©  (E) 20 SLL WITH 5%'® AB3 AT 487 D.C. (VIF)
| & !
4+ - rt- e o - i
| * ] ] | | | | FASTENERS FOR PRESSURE-FRESERVATIVE TREATED AND FIRE-RE TARDANT
Lda Wiy L ] TREATED WOOD SHALL BE OF HOT-IPPED ZWC COATED GALVANIZED, STANLESS
| \ STEEL, SLICON BRONTE DR COPPER. CEC 2504.0.5
E) HOOB
i NE) HOG8
| |
gews ) ‘ (£) Hooe
| &b
Laapes : :
i hE) PEA
HEU.
| iz /
i 4L (€} sLag
| /
l*" T | —2-NC.4x24" LONG DOWELS
4 SET 6* NTO (E) FOOTING
W/ "SET-XP" EPONY (T&E)
TYP.
IS 5" CONCRETE SLAB
W/ NO.4 BARS AT 16° 0.C. EW.
0/ 67 OF %"» CRUSHED ROCK
T s I ——
NATE:

ALL INDICATED DIMENSEHON SHALL
TAKE PRECECENCE OVER ANY SCALE

FOUNDATION PLAN gﬁ;}hﬁc{; ENTS, D0 NOT SCALE

SCALE 1/4° = 1-(f REFER TO ARCHITECTURAL DRAWINGS
FOR DINENSIONS AND CRAWL SPACE
VENTILATION.



hp
Rectangle


OR POST AS NEEDED

A | g 1 [+ | [ | H | | K | | | P | [} ~
W2X6 Ceiling Joist @ 16" O.C 308.6 SQFT| LEGEND AND NOTES
Wl 1/2" CDX Plywood Sheathing w/ 8d Common @ 4" O.C Boundery 346.5 SQFT| | ROOF RAFIERS : 26 OF, Mo 2 R BETTER AT 16 O£, VP, (LON)
[*1226 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws 8.0 FTl ELMLIGNT AL Mo AT 02 (R AR
[*1226 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws 1.3FT[l o :‘:f':j';v‘l":';']
11226 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws 144 FT[ S
1*1226 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws 1.3FTl Sk R R R
[*1226 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws 1.8 FT| = o vescee
1=. 2x6 Ceiling Joist 231.3FTj Cllll il i
;-:: 2}(6 ROOf Rafeters 252'9 FT. ———  [ENOTES FLUSH OR OROP BEAMS: [SEE FRAMING PLAN FOR SIZES & LOCATION)
s *(7"x9 1/2") PSL Flush Beam x 11'-6" LF 1.0EADD “STROCTURAL COWPGSTE LOMRER : 16 N ESR 1587 .
2 *(7"x9 1/2") PSL Flush Beam x 12'-10" LF 1.0EAD PAIMLA PAALE STOMD LIER () E-2.2 s 10OP
«*(51/4"x9 1/2") PSL Flush Beam x 15'-6" LF 1.0 EA e f&ié*}ﬁ“&fﬁﬁ% V0 ke ¥
+*(31/2"x9 1/2") PSL Flush Beam x 12'-0" LF 1.0 EA (SPECAL WSPECTON REQUEED FOR AL WELOS)
s+ TS (8"x8"x5/8") PSL Flush Beam x 18'-0" LF 1.0 EA o R 28T 35
s *(5 1/4"x7 1/2") PSL Wooden Header x 6'-0" LF 1.0EAD B ENOTES 408 6 OST. SEE FLIN
+ *(6"x8") Wooden Header x 7'-6" LF 1.0 EA /ﬂ ENOTES ST oM 4BV
s *(4"x12") Wooden Header x 3'-6" LF 1.0ER il o e e
[*1 Wall Sheathing - 1 24.4FT] R
I*1 Wall Sheathing - 3 L s . 124 FTill e R I A
ok % fﬁpfﬂ_ﬁ;}é
- e [l —— SHEAR WALL SCHEDULE
) D54~ ; ”//)if’ g 2
g?éip: HlEE_?)mCSH ]%Iiuﬁxgms E - : é Eé | R > .y[f} DENGTES (£) FLYWOOD SHEAR WALL. SEE PLAN FOR LOCATION

= [™\JE) a8 posT

(E) 17-6"

;EE SER B
{E) BSA ';E -

O:\Projects\2021 JOBS\221197- MARCUS (CADP\STRUCTURAL\STRUCT (0BEB) 08.27.22\221197-52.dwg

05-31-2 PLOTTED BY: smarales

DRAW I NG HANE :

PLOT DATE:

PLATES TO (N} TOP PLATES

OR TOP PLATES TO BLK'G
TYP.

{17-0') D

A

&

[N] 4xB POST

VERT. STRAP

(E) 6x6 POST

E) PFA b
T )

Gl
@
=
T
S

1

!

It

(0L B0 P

{E) #-0° B»

() 2ot o,

LEUZES HER.

(E.

£) PFA
E) SFA
EN

4w POST

Wi LPCal

o (R DR RR

N

! ) AW PRl
B |1 ey s Eose
& NG

(E] 4x& POST

5
VERT. STRAP

2nd FLOOR FRAMING PLAN

SCALE 1/4" = 10"

{£] PFA

NO NEW WORK
AT THIS AREA |- .

IIIISIIII DENOTES (M) PLYWOOD SHEAR WALL. SEE PLAN FOR LOCATION

SHEAR PANEL HAILING SILL PLATE | SIMPSON A35 BETWEEN BLK'G
WALL AND MATERALS MAILING (FLOOR] OF RN MEMBER & TOP PLATE

1/ COX PLYWD. W/Bd @ 6" O.C ' .
A EoiS kR OE FELD 160 @ £ 0L A0 24 O

1/ COX PLYWD. WBd @ 0] L .
A FES B 300 FELD 16d @ 4" OC AYS @8 0L

A o |17 cox pLYwo. w/ed @ ¥ 0| KNS LG

EDGES & 1% 0.0, FELD | @ 6" Q.. A35 @ 1 0.0,

+  REQUIRED 3 STUD/ELK'G. AT ABUTTING PLYWDOO PANEL JONT
HEBIZONTAL [IAPHRAGMS (NEW AREAS)
ROOF:  1/2° COX FLYWOOD WITH B4 COMMON NALS AT 4° D.C. BOUNDARY, €' O.C
EDGES, AND 12" O.C. FIELD. (UNBLOCKED UNLESS OTHERMISE NOTED ON PLANS)
HORIZONTAL DISPHRAGMS (EXISTING AREAS)

FLOORS: 3,47 PLYWOOD WITH 10d COMMON NAILS AT & 0.C. BOUNDARY, & 0.C.
EDGES, AND 12" 0. FIELD

SHEAR WALL NOTES

I ALL EXTERIOR WALLS SHALL HAVE 1% CDX PLYWODDD WITH %AFA
MALING UNLESS DTHERWISE NOTED ON PLANS

. ALL EXTERIOR AND INTERIOR CRIPFLE WALLS SHALL HAVE 1/7° COX PLYWOOD
WTH SNEARAUILING UMLESS OTHERWISE ROTED ON PLANS.

L ALL CRPPLE WALLS, EXTERIOR OR INTERIOR. WITH TWO FLOORS OR STORES
ABOVE, SHALL BE Zd6 STUD WALL WITH SHEAR A& NAILING UNLESS
OTHERWISE NOTED ON PLANS.

. FRAMING AT ADUCHNING PANEL EDGES SHALL BE 3 NOWINAL O WOER AND
NALS SHALL BE STAGGERED WHERE NAILS ARE SPACED 2 O.C.

. WHERE PANELS ARE APPLIED ON BOTH FACES OF WALL AND NAIL SPACING
15 LESS THAN 6" O.C. ON EITHER SI0E, PANEL JOINTS SHALL BE OFFSET TO
FALL DK DIFFERENT FRAMMG MEMBER SHALL 80 I NOMIMAL OR THICKER
AN WALS ON EACH SIDE SHALL BE STAGGERED.

-

. ALTERKATE TO COX PLYWOOD, USE ORENTED STRANDED BOARD [DSH).

7. ALL SHEARWALL MAILING SHALL BE COMMON NAILS.

HNOTE:
ALL INDICATED DIMENSHON SHALL
TAKE PRECEDENCE OVER ANY SCALE
MEASUREMENTS, DO NOT SCALE
DRAWINGS.

REFER TO ARCHITECTURAL DRAWRNGS
FOR DINERSIONS,

t



hp
Rectangle


>
1

=

L

Or\Projectsh 2021 JOBS\EZ1197- MARCUS (CADJ\STRUCTURALA\STRUCT [DB8) 05.27 . 20\I121197-53 dwg
31-27 FLOTTED BY: emarales

O~

DRAW NG HANE :

PLOT DATE:

Wl 1/2" CDX Plywood Sheathing w/ 8d Common @ 4" O.C Boundery 104.6 SQFT

1=, 2x6 Roof Rafeters &4 i
[*12z8 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws 12.4 FT

[ JExisting 2x Roof Rafters Tails To Be Removed In This Area 27.6 SQFT

E] MSTC4BHY

v[p - (E) MSTC48BS (E) MSTC 43RS !—T* V{E] _— (E) MSTCAERS

;] 02 HDR {£) 12 HDR_ s
»7
N | |
|

f

;lex_ CELNG J0STS 4

(E] MSTCAEBS

£l
Vta;l 175" ;

V[n 50

A0 7 SR ¥ i SR R
| |

E) MSTED
412 HOR =
i

ROOF RAFTERS : Jx6 OF. No. 2 OR BETTER AT 24° G.C, TYP. {LOM.)

EXISTING RODF RAFTERS : 2n AT 34" O.C.

EXISTING CELING JORST = 2¢ AT 16° 0.

EXISTING HEADER:

DEROTES FLUSH OR DROP BEAMS: (SEE FRAMING PLAN FOR SIZES & LOCATION)

-DIMENSIOHAL LUNEEER: DF. No. 1, TYP. (1LOX)

-STRUCTURAL COMPOSITE LUMBER: ICC Ne. ESR 1387 )
MICROLAM LAMIMATED VEKEER LUMEER (LVL) £=20 x 10° PS)
PARALLAM PARALLEL STRAND LUMEER (PSL) E=2.2 x 10% P3i

HPS, VALLEYS, RIDGE BOARD

DEROTES 4x OR &x POST, SEE FLAN

DEROTES 4x OR &x KING POST, SEE PLAN

DEWOTES SMPSON NST STRAP HOLDDWN

EXISTING SHEAR WALL SCHEDULE

{E)
V DENOTES SHEAR WALL. SEE PLAN FOR LOCATION

PANEL MAILING SILL PLATE | SIMPSON A35 BETWEEM BLK'G
AND MATERIALS MAILING (FLOOR] OR RN MEMBER & TOP PLATE

1/2° CON PLYWD, W/Bd © §° 0.

iy i 64 © 5 O.C. A3 0 4 0L
P " 0G
W COK PLYWD. W83 0 80K 1o, g e g A3S @ 1800

EDGES & 12 0.C. FELD

MTAL DAPHRAGWS (EXMESTING)

1/2" PLYWOOOD WITH Bd COMMON NAILS AT 6 0.C. BOUNDARY, & 0.C.
EDGES, AND 12 0.C. FIELD. (UNBLOCKED)

|
%— . —‘EL%'II_PSL_ U !

NO NEW WORK
AT THIS AREA

[E} WSTC48R3 A=

f NO NEW WORK
/ . AT THIS AREA

I

B .:_rr.ux_cm&i{wﬁ _x

X6 Pl g

y 3

Ty & ?JL‘:m g \

o

E - Gy D’
g . | :
= 3
. . [E] 412 HIR_
i | |I
— e [
(£} MST6 (ED = i—': L
| ] —REwoE (F)
| i L RAFTER TALS
]
OB ET meeewesy waeoel {1
R
"5/
[T—— (M) 2x8 DF. Mo. 1 LEDGER
W/ [2)-Ka3K" SDS SCREWS
AT 167 D.C.
NOTE:
ALL INDICATED DIMENSION SHALL
TAKE PRECECENCE OVER ANY SCALE
ROOF FRAMING PLAN WEASUREMENTS, DO NOT SCALE
DRAWINGS.
SCALE 14" = 1-0° REFER TO ARCHITECTURAL DRAWINGS
FOR DINENSIONS AND ROOF SATTIC
WENTILATION.
\
!\ T ] T [ T i3] T T T T T T T e T v T 3 3 T T



hp
Rectangle


COST SUMMARY

Project: HIDDEN FOR PRIVACY Website: www.alfasquareestimationa.com
Address: HIDDEN FOR PRIVACY Email: info@alfasquareestimations.com !- 5
Scope: LUMBER Contact +17-869-476685 i n
Date: - ) ﬂ — !
ALPHA SQUARE
ESTIMATIONS
CSI DIV. DESCRIPTION WU REMARKS
COST
DIV. 01 GENERAL REQUIREMENTS S -
DIV. 06 WOOD, PLASTIC & INSULATION S -
SUBTOTAL S -
OVERHEAD & PROFIT - 15% S -
TOTAL BID S -
EXCLUSIONS

ALL ITEMS NOT MENTIONED ABOVE ARE EXCLUDED




Estimate of Materials and Cost of Construction

Project: HIDDEN FOR PRIVACY Website: www.alfasquareestimationa.com
Address: HIDDEN FOR PRIVACY Email: info@alfasquareestimations.com
Scope: LUMBER Contact +17-869-476685
Date: -
REF. DETAIL QTY WITH UNIT MANHOUR | UNIT LABOR |TOTAL LABOR UNIT TOTAL UNIT ITEM
SR# SHEET SHEET DESCRIPTION e WASTAGE WASTAGE Ui MANHOURS RATE RATE cost MATERIAL Ml::'l'oE:I!AL COST ToTALCOST
DIV.01 GENERAL REQUIREMENTS
1 Permits Documentation And Fees 1 0% 1 Ls 0.00 $ $ - s - B - B B 5
2 Hazardous Waste Or Disposal Work 1 0% 1 LS 0.00 $ - $ - B - B - B B 5
3 Owner Purchased, Contractor Installed Items 1 0% 1 LS 0.00 $ S B - $ - s - S
3 Contractors Use Of New And Existing Facilities 1 0% 1 LS 0.00 $ - $ - B - B - B B 5
4 Correction Of Unsatisfactory Conditions 1 0% 1 LS 0.00 $ $ - S} = S - $ = S
4 Restoration Of Unit Damaged During Installation 1 0% 1 LS 0.00 $ - $ - B S S - B B 5
5 Replacement Of Units Which Cannot Be Restored 1 0% 1 LS 0.00 $ $ - s - S - s - S
5 Maintaining Existing Construction In Weather High Conditions 1 0% 1 LS 0.00 $ - $ - B - B - B B 5
6 Signage 1 0% 1 LS 0.00 $ S - s - S - $ - S s
6 Supervisory Personnel 1 0% 1 LS 0.00 $ - $ - B - B - B B 5
7 Temporary Services 1 0% 1 Ls 0.00 $ -8 - B N 5 -8 = S
7 Water 1 0% 1 LS 0.00 $ $ -8 -8 - s - S
8 Lighting And Power 1 0% 1 Ls 0.00 $ -8 -8 N 5 -8 = 3
8 Toilet Facilities 1 0% 1 LS 0.00 $ S - s - S - $ - S
9 Material Storage 1 0% 1 Ls 0.00 $ -8 -8 N 5 -8 = S
10 Contractar's Safety Program 1 0% 1 LS 0.00 $ - $ - B S S - B B 5
SUBTOTAL $
DIV.06 WOOD, PLASTIC & INSULATION
Foundation Framing
11 Holdown As;HDU2 8 0% 8 EA 0.00 $ -8 - s - E -8 S 5 $
11 Simpson H2.5 A 8 0% 8 EA 0.00 $ $ -8 -8 - IS - s $
12 s @ 8 0.C 8 0% 8 EA 000 s - s - B - s -8 - s $
12 ECCQ Post Cap 8 0% 8 EA 0.00 $ S - IS - s - B B S $
13 Base Plate 8 0% 8 EA 0.00 $ -8 - B N 5 - B = 3 $
Exterior Wall (51 LF){8'-0" High){407 SF)
2x4 Wood Studs @ 16" O.C (306 LF)
14 2x4 Wood Studs 8'-0" High 38 0% 38 EA 0.00 $ - S - $ s S - $ o $ $
14 2X4 Top Plate (10'-0" Long) 10 0% 10 EA 0.00 $ $ - S - S - s B S $
15 2X4 Bottom Plate (10'-0" Long) 5 0% 5 EA 0.00 $ - S - $ s S - $ = S $
Interior Wall (27 LF){8'-0" High){218 SF)
2x4 Wood Studs @ 16" 0.C (163 LF)
16 2X4 Wood Studs 163'-0" High 20 0% 20 EA 0.00 $ - S - $ c S - $ = S $
16 2X4 Top Plate (10'-0" Long) 5 0% 5 EA 0.00 $ S - IS - s - B B $
17 2X4 Bottom Plate (10'-0" Long) 3 0% 3 EA 0.00 $ - S - $ c S - $ = S $
Shear Wall Sheathing As;W1
1/2" CDX Plywoood Wall Sheathing
18 -Edge Nails 6d@6"0.c 195 5% 205 SF 0.00 $ $ -8 - B - B - B $
-Field Nails 6d @12" o.c
18 4x8 No of Sheets 6 0% 6 EA
Shear Wall Sheathing As;W3
1/2" CDX Wall Sheathing
19 -Edge Nails 8d@ 3"o.c 97 5% 102 SF 0.00 $ $ - s - B - B B 5 $
-Field Nails 8d @12" o.c
19 4x8 No of Sheets 3 0% 3 EA
20 6x6 Wood Post 2 0% 2 EA 0.00 s $ - |s - B - - B $
-8'-0" High
20 4x8 P.T Wood Post 3 0% 3 €A 0.00 s -s - B - B - - s $
-8'-0" High
2x10 D.F No.01 Ledger w/ (3)-1/4" Diax3-1/2" Screws (35 LF)
21 2x10 D.F No.01 Ledger w/ (3)-1/4" Diax3-1/2" Screws x 23'-3" L 1 0% 1 EA 0.00 S S - S - S - $ - S S
21 2x10 D.F No.01 Ledger w/ (3)-1/4" Diax3-1/2" Screws x 6'-7" L 1 0% 1 EA 0.00 $ -8 - s - B B S 5 $
22 2x10 D.F No.01 Ledger w/ (3)-1/4" Diax3-1/2" Screws x 5'-2" L 1 0% 1 EA 0.00 $ S - S - S - s - S $
23 2x8 Rim Joist Continuous 55 5% 58 LF 0.00 $ $ - s - B - B B 5 $
» o wootion 6 1800 @ 7 e i
24 2x6 Floor Joist x 14' L 18 0% 18 EA 0.00 $ $ - s - B - B B $
24 2x6 Floor Joist x8' L 6 0% 6 EA 0.00 $ -8 - s - B -8 S 5 $
25 3/4" CDX Plywood Sheathingw/ 10d @ Boundry @ 4'-0" O.C 366 5% 384 SF 0.00 $ - S - $ c S - $ = S $
25 4x8 No of Sheets 11 0% 11 EA
2ND FLOOR FRAMING
26 Coilng Framing g‘i:,sg . 232 10% 255 LF 0.00 $ - s - s - s -8 - E $
26 2x6 Ceiling Joist x 12' L 7 0% 7 EA
27 2x6 Ceiling Joist x 14" L 12 0% 12 EA
28 f‘i‘?;’:&g’:;if:é?sh oc 261 10% 287 L 0.00 $ -8 - B - B - B - s $
28 2x6 Roof Rafeters x 16' L 9 0% 9 EA
29 2x6 Roof Rafeters x 14" L 10 0% 10 EA
2x6 D.F No.01 Ledger w/ {2)-1/4" Diax3-1/2" Screws (27 LF)
30 2x6 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws x 8'-0" L 1 0% 1 EA 0.00 S S - S - S - s - S S
30 2x6 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws x 1'-3" L 1 0% 1 EA 0.00 $ -8 - s - E -8 - E $
31 2x6 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws x 14'-2" L 1 0% 1 EA 0.00 S S - S - S - $ - S S
31 2x6 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws x 1'-4" L 1 0% 1 EA 0.00 $ - S - $ c S - $ = S $
32 2x6 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws x 1'-10" L 1 0% 1 EA 0.00 S S - s - S - $ = $ $
(7"x9 1/2*) PSL Flush Beam (25 LF)
33 (7"x9 1/2") PSL Flush Beam x 11'-6" L 1 0% 1 EA 0.00 $ S - $ - S - $ = S $
33 (7"x9 1/2") PSL Flush Beam x 12-10" L 1 0% 1 EA 0.00 $ -8 - s - E 18 S ° $
(5 1/4"x9 1/2") PSL Flush Beam {16 LF)
34 (51/4"x9 1/2") PSL Flush Beam x 15'-6" L 1 0% 1 EA 0.00 $ -8 - s - E - B S 5 $
(3 1/2"x9 1/2") PSL Flush Beam {12 LF)
35 (31/2"x9 1/2") PSL Flush Beam x 12'-0" L 1 0% 1 EA 0.00 $ - S - $ s S - $ = S $
TS (8"x8"x5/8") PSL Flush Beam {18 LF)
36 TS (8"x8"x5/8") PSL Flush Beam x 18'-0" L 1 0% 1 EA 0.00 $ -8 - s I « ¥ A0S $
(5 1/4"x7 1/2*) PSL Wooden Header {6 LF)
37 (5 1/4"x7 1/2") PSL Wooden Header x 6'-0" L 1 0% 1 EA 0.00 $ - S - $ ° S - $ H S $
(6"x8") Wooden Header (8 LF)
38 (6"x8") Wooden Header x 7'-6" L 1 0% 1 EA 0.00 $ -8 - s - B -8 S 5 $
{4"x12*) Wooden Header (4 LF)
39 (4"x12") Wooden Header x 3'-6" L 1 0% 1 EA 0.00 $ -8 - s - E -8 S 5 $
{4x6) Wooden Header (8 LF)
40 (4x6) Wooden Header x 2'-6" L 3 0% 3 EA 0.00 $ -8 - s - E -8 S 5 $
41 1/2" CDX Plywood Sheathing w/ 8d Common @ 4" O.C Boundery 346 5% 364 SF 0.00 $ - S - $ s S - $ = S $
41 4x8 No of Sheets 11 0% 11 EA
High Roof Framing
Roof Framiny
) e o o 52 10% s8 tF 000 s - s - B - s - B - s $
42 2x6 Roof Rafeters @ 10 7 0% 7 EA
43 1/2" CDX Plywood Sheathing w/ 8d Common @ 4" O.C Boundery 105 5% 110 SF 0.00 $ S - S} = S - $ = $ $
43 4x8 No of Sheets 3 0% 3 EA
2x8 D.F No.01 Ledger w/ {2)-1/4" Diax3-1/2" Screws (13 LF)
44 2x8 D.F No.01 Ledger w/ (2)-1/4" Diax3-1/2" Screws - x 12'-5" L 1 0% 1 EA 0.00 S S - S - S - s - S S
SUBTOTAL $
TOTAL MATERIALCOST | $
TOTAL LABOR COST | $
TOTAL COST| $
OVERHEAD & PROFIT (15%)| $
TOTALBID| $




